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 2من  1صفحة 

 

 

 عناصر الإجابة
( Healthy food )             الأول الموضوع 

 العلامة
 ةمجموع مجزأة

Part one: Reading 
 

A- Comprehension 
 

1) True or False 

a) true      b) false       c) false        d) false 
 

2) paragraph identification 

         a. § 2          b. § 3 
 

3) Answering questions 

a) a healthful eating plan and regular physical activity. 

b) using the elevator less and using the stairs more, parking farther from rather 

than closer to your destination, gardening, or golfing without a cart. 

(0.25 for each item) 

c) because no food contains all the nutrients and substances the body needs or 

to provide the body with all the nutrients and substances it needs or to 

achieve the balance that best ensures good health.  
  

4) Cohesive markers: 

a) that weight (§1)  → healthy weight 

b) their (§2) →  some people 

        

B- Text exploration 

1) Lexis: 

a) obese (§1)  = overweight 

b) advantages (§2) = benefits 

c) guarantees (§3) = ensures 

 

2) Morphology: negative prefixes 

a) regular ≠ irregular 

b) active ≠ inactive 

c) healthy ≠ unhealthy  
  

3) Verbs forms 

             depends,    uses or will use,    is governed,   have/ will have 
 

4) Sentence ordering 

           1 - b    2- d   3 - a   4 - c  

        ( 0,5 for opening sentence and 0,5 for each correct link) 

 

Part two : Written expression 
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 2من  2صفحة 

 عناصر الإجابة 
 (Ethics at work)الموضوع الثاني 

 العلامة

مجموع مجزأة
 ة

Part one : Reading 

A- Comprehension 
 

1) Choosing the right completion. 
a) human relationships.     b) unethical practices.        c) affects work quality  

 

2)  Ordering  ideas:      -b    - c    - a   
        

3) Answering questions 
a) discrimination, fraud, theft and harassment. (0.25 for each item) 

b) because it enhances your productivity by making it easier for you to     

              communicate and work with others in the workplace. Or  because it improves  

              productivity and makes communication easier between each other at work. 

c) Yes, it is. It can open doors to workers for new responsibilities at work,    

    possibly leading to promotions and pay raise. 

 

4)  The  title:      Ethics at the Workplace. 
 

B- Text Exploration  
 

1) Opposites:   a-worst  §1  ≠ best     b- suspicion §2  ≠ trust      c- reduction §3 ≠ raise 
 

2) Chart completion 
 

 

Verbs  Nouns  Adjectives  

E.g.  corrupt  corruption  corrupt 

To defraud  Fraud/fraudster/ fraudulence fraudulent 

To communicate communication Communicative/ 

communicable 

To value Value / valuation /valuer / 

valuables 

Valuable / valueless 

 

(accept any other correct form) 

3) Combining sentences 

a) Some workers respect their company’s code of conduct; as a result, they generally 

get promotions.  

b) Provided that the manager and the workers trust each other, the company’s 

productivity will increase. 

- The company’s productivity will increase provided that the manager and the 

workers trust each other 
 

4) Gap fill 

1-professional       2-consequences        3- obey       4- involved     
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